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1.
Fill in your name, student ID, and section above.  Choose some keyword for yourself that I can use to anonymously post grade information.  If you do not choose a keyword, I cannot post your grade information if needed.

2.
This is a OPEN book, OPEN notes, calculator allowed test.
3.
The test is worth a total of 100 points.  The value for each question is given either at the top of that section of questions or in curly braces to the right hand side of the question.  There are extra credit questions at the end of the test worth an additional 10 points total.

4. If you do not understand a question, raise your hand and I will come over for you to ask me about it.  I may or may not answer your question but you should still ask.

5. In questions where I have given you code to use, if you find typos, assume that the code is SUPPOSED to work and just indicate what assumption you made for your answer.  This applies in all cases unless the question is specifically about the syntax of the code - in which case there are errors on purpose.

6. I will always try to give partial credit so the more of your work that you show, the more I am able to grade for partial credit if the answer is not entirely correct.  It is to your benefit to show your work on the test.

NO CHEATING!

Multiple choice questions are worth two {2} points each.  Please circle the letter indicating your choice for the answer.

1.
Which of the following is NOT part of an ADT?

a)
functions to access data

b)
data storage

c)
access to the physical data structure

d)
functions to modify data

2.
Which of the following is true about a union?

a)
The system determines which member of the union is valid

b)
All possible union values can be stored at the same time

c)
One union member value will be automatically converted to another 

d)
A union allocates enough space for the largest of its members

3.
Which of the following is NOT a valid bit field inside a struct?

a)
unsigned bnm :  ;

b)
int bnm: 7;

c)
 : 0;

d)
unsigned :4;

4.
Scope is

a)
when and where a variable can be seen and used

b)
how long an identifier exists

c)
where an identifier exists

d)
where an identifier can be seen and heard

5.
Fill in the following for abstract data types we discussed in class:
{8}

	Name
	Control scheme
	Test functions
	Input/Output functions

	
	
	
	

	
	
	
	

	
	
	
	


6.
Define an enumerated type named monsource which has at least 10 media values including: film, book, folk tale, myth, comic, cartoon, and urban legend.  The 10 values do not have to have 10 distinct numeric values, i.e. if film = 2 then movie should also equal 2.
{8}

7.
Define a union type that corresponds to the media values above. The union should record the following type of information:
{8}


For published material such as books, comics, etc. list the name of the publisher


For film, TV, and other visual active media give the name of the director


For static artwork such as paintings or sculpture give the artist’s name


For verbal sources such as folk tales, urban legends, and myths give the country of origin


For any other media type give the year of creation for the particular example

8.
Define a data structure called monster using a typedef.  The monster data structure should have the following elements in it:
{12}

name

category – vampire, werewolf, giant animal, mutated animal, mutated human, alien, created thing, evil human (ex: Dr. Frankenstein or Tony Perkins in Psycho), other

fictional creator if appropriate (ex: Dr. Jekyl created Mr. Hyde)

real creator (ex: Mary Shelley wrote Frankenstein)
year of creation as fiction (actual or estimated)

source using the monsource enumerated type defined above

source media info using the monmedia union type defined above

a bit field of 10 bits representing which types of media sources exist for the given monster – the bits will be set corresponding to the values from the 10 possible enumerated types, i.e. the bit field could indicate that there are myths, books, and TV shows about the given monster

a pointer to another monster

9.
Define a variable of the monster type and give it the following values:  Name: “Cookie”; category: other; real creator: “Jim Henson”; year of creation: 1962; source type: TV; source info – director: “Frank Oz”; media sources: TV, cartoons and books.
{8}

10.
If you created 4 monster variables and all but the last one contained a valid pointer to one of the other variables and no pointer values were duplicated, what data structure would you have created?  Give its name and draw a picture of what this data structure would look like.
{6}

11.  Given the abstract data structure diagram below, define a struct  node that could be used as any one of the elements in the data structure shown:
{10}


struct node {

};

12.
Write in English the declaration for the identifier below:
{6}


void (*uhvin( int [], char * [])) (float)

13.
Given the command line call below, write the beginning of a main routine that will read in the parameters and store them as a string, an integer and a float.
{8}

>a.out  Dino  5  78.8
14.
Given the code fragment below, write the missing declarations including storage class for the underlined variables.
{9}

int footoo( char yn; float temp)

{






 lastcount = 0;






 x;






 mil = 1000000;

if (lastcount)


{


printf(“Last time, %d iterations\n”, lastcount);


for (x = 0; x < lastcount; x++)


if (((yn == ‘Y’) || (yn == ‘y’)) && (x mod (int) temp)) 



lastcount++;


}

else


{


printf(“First run through”);


for (x = 0; x < mil; x++)



if (((yn == ‘Y’) || (yn == ‘y’)) && (x mod (int) temp)) 




lastcount++;


}
}

15.
Write a C declaration for the following:
{9}

hp is a function with two inputs, an int and an array of pointers to functions with one input of double and a return type of void and the function returns a pointer to char

Extra Credit questions  - Worth two {2} points each unless stated otherwise.

XC1.
Which of the following cannot rewrite the others?

A)
recursion

B)
selection

C)
repetition

D)
iteration

XC2.
Conditional expressions act like miniature:

A)
while loops

B)
switches

C)
if – then - elses

D)
for loops

XC3.
Which of the following is not related to command line parameters?

A)
operating system

B)
two fixed parameters

C)
input treated as all one type

D)
required parameter names

XC4.
Which of the following is not controllable by a storage class?

A)
Linking identifiers between code modules

B)
Maintaining a local variable value while a function is not excuting

C)
Holding a value in a register during execution

D)
Forcing an identifier to remain local to a file although global to all its functions

XC5.
Describe a “real-life” ADT that is not a stack or a queue.



{ANY answer will receive 2 (two) points}
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